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L1 fr= R x s a= /R_R2R 7 a=
JEAT K 4 ouT  IN =PI JIEAT K 4 ouT | IN JaRA| NT4 F b

1| HEAHEE 39 49 88 22.0 66. 0 21 KAfserst 51 58 109 25.0 84.0
2 EABUE 45 51 96  26.0  70.0 22 KEHR B5 | 56 111 26.0  85.0
3 | TEAHEYS 49 49 98 25.0 73.0 23 | fEEy 53 61 114 27.0 87.0
4 | IRARFEN 48 56 104 30.0 74.0 24 | MWHIEA 51 58 109 21.0 88.0
5 ZFERIL 49 53 102 26.0 76.0 25 | Af b 57 63 120 32.0 88.0
6 wEREZ 49 50 99 22.0 77.0 26 BJIEK 56 55 111 22.0 89. 0
7 RAES 50 52 102 23.0 79.0 27 | hEEE 59 56 115 26.0 89. 0
8 | MG 48 54 102 23.0 79.0 28 PPHIECR 60 59 119 26. 0 93.0
9 | HiHfsui 49 56 105 26. 0 79.0 29 | RAPRICH 54 62 116 22.0 94. 0
10 | AFE 49 58 107 28.0 79.0 30 | JEEJEIE = 56 65 121 27.0 94. 0
11 EHE— 52 55 107 28.0 79.0
12 IAREE 52 51 103 23.0 80. 0
13 KEME 50 52 102 21.0 81.0
14 KA 53 50 103 22.0 81.0
15 [LUHEEE 52 52 104 23.0 81.0
16 FEHZE 51 59 110 28.0 82.0
17 EHEEE 52 56 108 25.0 83.0
18 At HPLFE 53 56 109 26.0 83.0
19 JIERET 53 53 106 22.0 84.0
20 | HF ke 55 51 106 22.0 84.0




